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5.0
model

0.751.001.251.501.752.002.25

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 1314, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 2995, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.20.0 0.2 0.4

Fiber 2344, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.100.150.20

Fiber 1420, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1 0 1 2 3 4

Fiber 2359, dchi2frac= 0.9, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.20.0 0.2 0.4

Fiber 2993, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 862, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6

Fiber 2887, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.20.00.20.40.6

Fiber 4070, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.100.15

Fiber 719, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

8 6 4 2 0

Fiber 1458, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.20.00.20.40.60.81.01.21.4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.20.00.20.40.60.81.01.2

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 2350, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.001.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 637, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.001.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.15

Fiber 4267, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6

Fiber 2774, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.10

Fiber 4268, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.00.20.40.6

Fiber 2362, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 4406, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.15

Fiber 2621, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 790, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 2535, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0 2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

10 8 6 4 2 0

Fiber 2164, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.00.20.4

Fiber 625, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

7 6 5 4 3 2 10

Fiber 510, dchi2frac= 0.9



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.20.40.60.81.01.21.41.61.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.20.40.60.81.01.21.41.61.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.00

Fiber 4329, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.41.61.82.02.22.42.6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.40.5

Fiber 920, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.41.61.82.02.22.42.6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.21.41.61.82.02.22.42.6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1000.0750.0500.0250.0000.0250.0500.075

Fiber 2314, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.100.15

Fiber 2641, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 2837, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.4

Fiber 4101, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.41.61.82.02.22.42.6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.1

Fiber 709, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 588, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.30.40.5

Fiber 2704, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 5 4 3 2 1 0

Fiber 1472, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 4418, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.5 3.0 3.5 4.0 4.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.5 1.0 0.50.0 0.5

Fiber 521, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 4272, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1250.1000.0750.0500.0250.0000.0250.050

Fiber 4447, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.15

Fiber 781, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 2459, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.40.60.81.01.21.41.61.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.40.60.81.01.21.41.61.82.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 1324, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.50.0 0.5 1.0 1.5 2.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.50.00.51.01.52.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0 0.2

Fiber 2550, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.2 0.10.0 0.1 0.2

Fiber 1403, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.2 0.0 0.2 0.4

Fiber 612, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.150.200.25

Fiber 2867, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 2595, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

4 3 2 1 0

Fiber 1368, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

8 6 4 2 0

Fiber 2163, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.10

Fiber 2346, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.41.61.82.02.22.42.6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.15

Fiber 2848, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.51.00.50.00.51.01.52.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

10 8 6 4 2 0

Fiber 2951, dchi2frac= 0.9
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